

# Operacions Combinades nº 4

---

Fes les operacions en l'ordre correcte i posa el resultat final en la línia.

①  $3 + (1 - 7) \times (8 + 4) + (6 + 9) - 2 =$  \_\_\_\_\_

②  $1 + (3 - 9) \times (8 + 4) + (5 + 6) - 2 =$  \_\_\_\_\_

③  $4 + (6 - 5) \times (9 + 7) + (1 + 2) - 3 =$  \_\_\_\_\_

④  $2 + (6 - 3) \times (7 + 5) + (9 + 8) - 1 =$  \_\_\_\_\_

⑤  $8 + (9 - 1) \times (4 + 7) + (6 + 2) - 5 =$  \_\_\_\_\_

⑥  $1 + (5 - 6) \times (2 + 3) + (9 + 4) - 8 =$  \_\_\_\_\_

⑦  $6 + (5 - 7) \times (2 + 4) + (3 + 8) - 1 =$  \_\_\_\_\_

⑧  $6 + (8 - 5) \times (9 + 1) + (4 + 3) - 7 =$  \_\_\_\_\_

⑨  $4 + (3 - 6) \times (5 + 9) + (8 + 2) - 1 =$  \_\_\_\_\_

⑩  $4 + (2 - 1) \times (8 + 7) + (9 + 5) - 6 =$  \_\_\_\_\_